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[ 1.1: Overall system: parallel structure

Overall system

[0 1.2: Overall system: series structure
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s11 0
(sg Usg)l
O (sy—1 Vs
sy{
spsa A1 sp(sp Usg)Arn 0 e
sa(sg Usg)Azr (s Us3)(sg Us3)Ay  (sp Us3)(sg Usy)Azg 0
0 (53 Usg)(sa Usz)Agy (53 Usg)(sg Usg)Agz  (s3 Usg)(sg Uss)Azg
0 0
0
0
0
0 0

(sN_1UsN)sN_2UsN_1)AN_1,N—2 (N_1UsN)N_1UsN)AN_1,N-1 (SN_1USN)SNAN_1,N

0 sN(sN—1YUsN)AN,N—1 SNSNAN,N
s2411 52412 0 - 0
spAz1  (s2 Us3)Anz s3An3 0 0
0 s3A32 (s3 Usg)Asz 54434 0 0
‘; 6 SN—IA&—l,N—z (sN—1 Us1\7‘)4‘11\771,1\771 SNAI\;—I,N
0 0 SNAN,N—I SNAN,N
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= EE,LJA,L]I] 1
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00 4.2.1 000000 s, 000000
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e OO DOOOOOOODOODOOOO,
1 1 LA T 1y pt
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e UUUUOLUODLUODLUOODLOOO,

1 1 1 ~ ~ 1
a > §4wmmZMﬂRaax¢uﬂa4XEuﬁ} (4.16)
{E.}

00000000 s;=40,1},i=1,---,NOOOODOOOOO. 00O, P, 0 P,0OC
0oo00oooooon

PB;R; B P, — Py(A; + ki) — (A + ki )TP = 0, i=1,---,N  (4.17)

googoodn, R, oo, ks, 0bbdbogoogogg.

X = (X,)
P = diag{Pl—H”'aPN-F}
R = dr[;ag{Rla e 7RN}
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0o,
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B = diag{By, -, B}

0000,000000000000000000,0042100000000 50,
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0000, (4.14)00
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000.00000000000000
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O000.000,000000000 (4.17)0,
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O00.000,P>0000000000000
V(z) = 2Pz (4.22)
000,0000000000000000000 S000000. #0000,
V(z) = TPz +2TPi
= 27(AT —aPBR BT + E,Ac"E,) Pz + 2T P(A— aBR'BTP + E,A.E,)x
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1 A A
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1 A A
2KP - ——E,X"RXE
20— 17 RXE, >0
Dooooooo,

1 A A
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> 200 —1"7 RX Ly
1 L R .
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1 ]_ 1 ~ ~ 1
&S a> > +max-A\y{R:E,XT(KP)"'XE,R2}
2 (B34
00,000000000000000000000,00000000.
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e OO OOOOOOODODOOOOO,
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o2 - — o7 (4.26)
2 UlAM(P1+BlR1 Bl P]_+)
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P,B;R;*B} P; — Pi(A; + kD) — (A4 + k,I)'P, =0, i=1,---,Nk; e R (4.29)
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0000000000000000
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N
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[ dl’z
| dt

] (2.11)
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N
Z Pip)llzilleis [ Aisll - llz4]] (4.34)
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(4)
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{20, = DAur(Pe BR B Py) + 2khag(Po)} el + 32 30 20 (Poo)llilless 1 Ay |

1=17=1
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ooao y €45 O
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gb,dd42200000dguuoduoogouaguoog,ooggoooood,
gobgbgbbubobooboboobob,ugoboboobobogobgood
googboooooogg.

4.3 UO0OOO

gobdo,420,4300000000000000b0000boOoo. oo, ad
O00000ddgooooo,33fdddooboooooobogoonD @anooo
U p0dobgoooooooooood. bgba,boooog s;oubood
oo A dbudbbaubagoodgbogbbouboouood, R 00goa
HEN

00 T -1
/ e M BBl et dt

Pz‘+:[
0

ooooooooin,

oo, 00bdbdbobobobd A, bobobobobooobouobobobo
gooooogood. bguod,suguogboogooan.

4.3.1 0UO0O0O 1: D0ggooooobouoobboooboboobbuod
HEN

Step 1 JOUOO0O0O0O A 0D000000O0O0.

- A4,000000000000000000000000. —P,_=0,i=1,---,N
0000 Step40.

—~ 0000, — Step 20.

Step 2: U Rez; = D00, 000000000 A, 000000000 OO0OO0OO0O
gbooobuoobuodgugu, bbb ooboobounbouog i d
gon.

(000,00 Rez; =; 00 A, 0000CDO0OOOOOLOO0OO.)

Step 3: ; 0000, 00000
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0000 P 000,00000,
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D0000.000000000,
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goog.

Step4: 00 Rez; =k, 000,000000000 (A - BR;'BfP, )00O0000O 3.3
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good pL000,00000
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- A4,000000000000000000000000. —P,_=0,i=1,---,N
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0000 p_0OO00,00000,
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D0000. 00000O0ooo,
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god.
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gubdbgboboboooooon k0000,

kL, O0DD,00000
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oot po0b00,00god
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god. 1o, bogbogboouogogboobobboobogboobob.oz24,d
gbobogoooboubooobobogog,bbbbubobouobgbuugboboon
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oo sgubobooboobobooooono. bgo,s2b00bgonoubooboon.

5.2 0O0O0OOO

5.2.1 0O0OO0OO0O0O0O0O . bubboboboboboboouod

b s5.2.1 Dogodn s, gbodboogoud e>ob0un
e OO UOUODUODLDODLODLOOLOOON,

1 A A
k> mAaxikM{EpXTRXEPP_l} (5.1)
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e UUUUOLUODLUODLUOODLOOO,

1 ~ ~
k> mAaxi)\M{ESXTRXEsP_I} (5.2)
{E.}

O0O000o0oooooog sg oog s;={0,1}y 000000000, 000, Py
U 000000000

PB;R;'BI' P, — P(A; + kI) — (A; + k)" P, =0, i=1,--- N (5.3)
00000000, R, 000000D00O0.

P = diag{Pry, Py, -+, Py}
R = diag{Rl,RQ,---,RN}
X = (Xy)

(00 5.2.1000)
0000,000000000000000000,0042100000000 S0,

S: & = Az+ Bu+ E,AE, (5.4)
0o000,00
u=—-R'B"Px
0o0000,000000
i = (A—aBR'BYP+ E,AL,)x (5.5)
000.000,000000000 (5.3)0,
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000.000,P>000,0000000000
N
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1 ~ ~
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0od

P(A—BR'B"P)+(A—-BR'B"P)'P = -Q (5.37)
0000,000000000 (5.34)000000000000000

V(z) |53y = —2'P(A—BR'BTP —hI)(A—- BR'BTP — hl)z
—2T(A—= BR'BTP — hI)*(A— BR*BTP — hI)T Pz
= —2"{P(AA+ BR*BTQ)+ (AA+ BR'BTQ)TP
—2h(PA+ ATP —2PBR *BTP) + 2h*P}z
= —2T{P(AA+ BR'BTQ)+(AA+ BR'BTQ)TP
+2hQ + 2h*Plx (5.38)

OO0 P>000,0 (534)000000 00O R, 000 K, OODODOOO. ODODO, O
g1 (A—BR‘lBTP)DDDDDDDDD 20U boubonbodn. g

5.3 OO0

5.3.1 UU0O 3: 0o uoodoooonog

Step 1 JOUOO0O0O0O A 0D000000O0O0.

- A 0b0udoooooooooooooouoont. - Po=0,0=1, -+

) 7N
0000 Step40.

—~ 0000, — Step 20.

Step 2: U0 Rez; =, 000, 000000000 A, 00000000 DLDODOO0OOOO
gopooooboobobdogo,oooooboboboboobobobbbD g
good.

(OOD0,00 Rez; =, 00 A, 0DD0QODODDDOODOO L OODOD.)
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Step3: , 0000,00000
P,BiR;*BI P, — PJ(A; = I,I) — (A, = ,LI)'P, =0
0000 p_0OO00,00000,
v; = —R;'B] Pi_z; + u;
D0000. 00000O0ooo,
i; = (A; — B;R;'BI' P,_)a; + Bju;

god.

Step4: U0 521 0000000000O0000 Rez; ==k 000, 000000000
(A, — B;R’'BIP,_) 000000 33000000000000000000 k0O
good.

Step 5: k;, 0000,00000
P.B;R;'BI'P, — P,(A; — B;R;'Bf P,_ + kI) — (A; — B;R; "B P,_ + kI)" P, =0

oot P 000,00000

-1 T

gooogo.

5.3.2 UU0O 4:0000O0O0OO0OOOO0OOOOO0OODOO0OObOOO

Step I OO A 00oogoan.

- A 000000000 uod. - P =0,0=1,---, N
googd Step40.

- OgOboO. — Step20.
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Step 2:

Step 3:

Step 4:

Step 5:

U0 Rex; =000, 000000000 A, 0000 bogboobogoooo
gububububobdgo,ooobgboboboboobobobbnD g
good.

(OOD0,00 Rez; =, 00 A, 0DD0QODODDDOODOO L OODOD.)

,0000,00000
P.B;R;'Bl P, — Pi(A; = l,I) — (A4 = ,LI)"P, =0
0000 p_000,00000,
v; = —R;'B] Pi_z; + u;
D0000. 000000000,
i; = (A — ByR;7*B] P, )x; + Bju;

goog.

gbs2200000000000000 Rez; =—k; 000, 000000000
(A, — B;R’'BIP,_)00000033000000000000000000 k0O
gon.

kL ODOO0OO,00000
P,B;R;*BI P, — PJ(A; — BiR;*Bf P,_ + k;I) — (A; — B;R;*'BIPi_ + k;I)'P; =0

oot P 000,00000

-1 pT

gooon.
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gboodb 40, sdbodbogubgubouboauboobboobognogd
goo,gboggbodgoogboouonbo. goboobboubooboo. ba
gobd,bgbbgbogbgoubod,bgbubugbgoboob,ubogooboon
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6.2 UUOU0O0OUOOUOUOOOOOOOOO0O0O0O

[0 6.1: Five inverted pendulums:parallel strucrure

0 6.2: Five inverted pendulums:series structure
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googood Jg:

1. . 1. . 1. . 1. . |
-2 1 . -2
+ ( m1l12)91 + 57711(.’1312 + 211915[31 COS 01 + l1291 )

+

~—~

: 1 ) .
m2122)922 + 57’)12(1722 + 21202332 COS (92 + 122922)

b - 1 , .
m3132)932 + 57’)13(1732 + 21303333 COS (93 + 132932)

+

—~
W =W =W W| W]

o\ 1 -
+ m4l42)042 + 577’1,4(.1:42 + 2[4933?4 COS 94 + 142944)

(
(

2 -2 Lo
= §(M1 + 7711)$12 + §m1l1291 + mql1210; cos 0,

1 2 L y
+ §(M2 + m2)x22 + §m212292 + m212x292 CcOoS 92

+
N =N DN =N =D —

m5l52)952 + 57715(.1:52 + 2[5953?3 COS 95 + 152952)

1 P s »
+ §(M3 + m3)3332 + §m313293 + m3l3x393 COS 93

1 p Ly o
+ §(M4 + m4)x42 -+ §77’L4l4204 -+ m4l4x494 COS 94

1 2 o - .
+ §(M5 + m5)x52 -+ §M5l52052 + m5l5:c'595 COS 95 (61)

O0O00o000 u:
U = mqglicosby + moglscos by + mzgls cos O3

+ magly cos 04 + msgls cos 05

1 . 1 .
+ —Kg(il?g — .1'1)2 + —Kg(il?l — .1'3)2

2 2
1 . 1 .
+ §K4(ZB4 — $1)2 + §K5(2171 — $5)2 (62)
gooooud D
1 .2 1 ) 1 .2 1 ) 1 .2 1 )
D = §D9191 + §D$13312 + §D9292 + §Da;23322 + §D9393 + §D$3.’1332
1 o 1 . 1 .o 1 .
+ 5 Do,0s" + 511,04:,:42 + 5 Dot + 5Dmsxﬁ
1 ) . 1 ) .
+ 5Dy (22 = 21) + 5 Doy (71 — 25)
1 ) . 1 ) .
+ §Dd4($4 - 331) + §Dd5($1 - J}5) (63)
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noo00000oooon
d (98 8J ~ oU 9D
(j)_ J . o

dt \9z,) 0Oz, ' Oz, 04y
d D
L(0)-0 e
d D
G(2)-ag e o
P (ok) ot e =
d D
i(5h) - =
d D

(6.4)
(6.5)
(6.6)
(6.7)
(6.8)
(6.9)
(6.10)
(6.11)
(6.12)

(6.13)

000,0000=f=2=¢=u=0000000000000,sind =40, cosfd =00

uo.
gb1googod

w, = (My +my)d +mali6;
— Ko(zo — 21) + K3(z1 — 23) — Ko(zg — 1) + K3(zy — x5)
4 Dy, @1 — Da (s — &1) + Day (61 — &)
— Dy, (%5 — &1) + Da, (¢1 — )

4 . . .
0 = §m111201 + mqliz7 — magli0y + Dy, 0,

gb2000004d

U = (M2 + m2)-f2 + mzlzé'z + K2($2 — 371) + Dy, %o + Ddz(l’é — -131)

4 . ) :
0 = §m212292 + mzlzﬂfz — ngl292 + D9292
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003000000
uz = (Ms+ms)ds + m3129"3 — Kj(z1 — 23) + Dy, @3 — Dy, (21 — 23)
4 . )
0 = §m313293 -+ mgl3i'.3 — m391303 + D9393
004000000
ug = (My+my)dy + m4l49';1 + Ky(zg — 1) + D, %4 + Dy, (24 — 1)
4 .. )
0 = §m4l4294 + m4l4.r"4 — m4gl494 + D9494
OO0 5000000
Uy = (M5 + m5)i:'5 + m5l59"5 — K5(JZ'1 — J)5) + Dms.’lfg, — Dds(afl — .’135)
4 . .
O = §m5l5295 + m5l5.i"5 — m5gl595 + D9595
9:9::1:::1'::11,:0DDDDDDDDDDDDDDDD,
e JO0D0O0ODOODOODODOODOO,
71 = A1z + Biug + Apxg + Apxe + Agzzs + Arary + Agszs
Ty = Asxo+ Boug + Asixy + Ao
T3 = Azxz+ Bausz+ Azizy + Aszxs

Ty = Ay + Baug + Apxy + Agay

213'5 = A5.T5 + B5U5 + A51£U1 + A55ZB5

1 = [91, 91, L1, l;1]T
L2 = [92, 92, L2, «fz]T
r3 = [0s, 9},, T3, Jfg]T
ry = [0a, 94, T4, :154]T
rs = [0s, 95, Ts, :155]T

o DU ODLUOODLUOODLOLLOODLO,

21 = Az + Biug + Az + Ao

Ty = Aosxo + Boug + Asjxy + Agey + Agzxs

95

(6.18)
(6.19)

(6.20)
(6.21)

(6.22)
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3
L4
s
Iy
T2
Zs3
Ty

Ts5

Aszxz + Baus + Asoxo + Azzxs + Azaxy

Agzy + Baug + Agzxs + Agay + Agsxs

AsTs + Bsus + Asams + AssTs
[91, 91, L1, 151]T
[92, 92, L2, iﬁz]T
[93, é3, L3 153]T
[04, (94, T4, x'4]T

[95) é57 Ts, afS]T

o LD UODLUOODLUOODLOLDLOODLO,

A14

o O o O

o O o O
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0 1 0 0 0
3g(M1+7TL1) _ 3D91(M1+m1) O 3Drl _ 3
11(4M1+m1) mll12(4M1+m1) 11(4M1+m1) B]_ _ 11(4M1+m1)
, =
0 0 0 1 0
_ 3mig 3D01 O _ 4D21 4
L 4AM1+my I (4M14+my) AMi+my1 | L 4M1+my i
00 0 0
0 0 3(K2+ K3+ Ka+Ks) 3(Day+Dag+Day+Day )
A]_]_ — 11(4M1+m1) 11(4M1-|—m1)
00 0 0
0 0 _4(K2+K3+K4+K5) _4(Dd2+Dd3+Dd4+Dd5)
L 4M1+mq 4Myi+my i
0 0 0 00 0 0
0 — 3K> _ 3Dg, 00 — 3K . 3Dg,
l1(4M1+my) I (4M1+my) A13 — 11 (4M1+my) l1(4M1+my)
3
0 0 0 0 0 0 0
0 __ 4Ky 4Da, 0 0 4K; 4Dy,
4My+mq 4 M1 +mq L 4My +mq 4My+mq
0 0 0 00 0 0
O _ 3K4 _ 3Dd4 0 0 o 3K5 . 3Dd5
l1(4M1+m1) 11(4M1+m1) A15 _ 11(4M1+m1) l1(4M1+m1)
, =
0 0 0 0 0 0 0
((J— - 4D, 0 0 @ AKs 4Dg,
4Mi1+my 4Mi+my L 4M71+my 4Mi1+my
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Ay

A41

57

0 1 0 0
3g(M2+m2) _ 3D92(M2—|—m2) 0 3D12
I3(4M2+m3) mala?(4Mz+m2) I(4M2+m3)

0 0 0 1
___3mag 3Dy, 0 — 4D,

L 4 Mz +m2 I2(4M2+m2) 4Mz+ma |
00 0 0
0 0 — 3K — 3D
12(4M2—|—m2) 12(4M2+m2) , A22 —
0 0 0 0
00 i oty
L 4Ms+mo 4Mz+my

0 1 0 0
3g(M3+’I'TL3) _ 3D03(M3+m3) 0 3D13
13(4M3+m3) m3133(4M33+m3) 13(4M3+m3)

0 0 0 1
_ 3mag 3Dg, 0 __ 4D

| 4Ms+ms l3(4M3+m3) 4Ms+m3 i
0 0 0 0
00 — 3K3 o 3Dd3
13(4M3+m3) 13(4M3+7713) , A33 —
0 0 0 0
0 0 2K “Ds
L 4 M3z +ms 4Msz+m3

0 1 0 0
3g(My+mq) 3Dg, (Ms+mas) 0 3Dg,
la(4Ms+ma) maly (AMy+my) la(4My+my)

0 0 0 1
_ 3mag 3Dg, 0 — 4Dz,

| 4Ms+may la(4Ma+ma) 4Ms+ms |
0 0 0 0
00 — 3K _ 3P4,

la(4Ms+my) 14(4My+my) , A44 —
00 0 0
00 ik e

AMy+my 4Ms+my

o O o O

o O o O

o o o O

B2 — - 12(4M2+TFL2)
0
4
4My+mgy
0 0 0
O 3K> 3Dd2
12(4M2+m2) 12(4M2-|—’ITL2)
0 0 0
0 _ 4K2 _ 4Dd2
4Ms+mo 4M>+mo
0
B3 — _13(4M3-|—m3)
0
4
4M3+m3
0 0 0
O 3K3 3Dd3
I3(4Ms+m3)  [3(4M3+ms3)
0 0 0
0 __ 4K __4Da,
4Ms+m3 4Msz+ms |
0
3
B4 _ 14(4My+my)
0
4
AMy+my
0 0 0
0 3K, 3D,
14(4M4+TFL4) 14(4M4+1TL4)
0 0 0
O _ 4K4 _ 4D‘i4
AMy+my 4My+my i




As

A51 -

Ay

A21 -

0 1 0 0
39(Ms+ms) 3Dy, (Ms+ms) 0 3Dy,
I5(4Ms5+ms) msls®(4Ms+ms) I5(4Ms+ms)

0 0 0 1
_ 3Msg 3Dg, 0 — 4D,

L 4Ms+ms I5(4Ms+ms) 4Ms+ms |
0 0 0 0
3Ks Z’:Dd5
0 0 _15(4M5+m5) _15(4M5+m5) , A55 —
00 0 0
4K, 4D
0 0 4M5+5m5 4M5-|d-5m5
e JUOODOOOODOODUDUOOOOMO,

0 1 0 0
39(Mi+mi) 3Dg, (My+my) 0 3Dz,
I1(4M14+mq) mql12(4M1+my) 1, (4M1+m1)

0 0 0 1
_ _3mg 3De, 0 — 4Dz

4Mi+my I1(4M1+mq) 4Mi+my1 |

0 0 0 0 0
3K. 3Dy

O O 11(4M1-2|—m1) 11(4M1-|?7TL1) , A]_z — 0

0 0 0 0 0
4K 4Dy

00 _4M1+2m1 _4M1+inl ] L 0

0 1 0 0
39(M2+TFL2) _ 3D02 (M2+m2) 0 3D12
I2(4M2+m3) mals?(4Ms+ms) I3(4M2+m3)

0 0 0 1
_ 3ng 3D92 0 _ 4D:c2

| 4Ms+mo Iy (4M3+ms) 4Mz+m2 |
0 0 0 0
3K2 .?)Dd2
0 0 _12(4M2+m2) _12(4M2+m2) , A22 —
00 0 0
4K 4Dy
00 4M2+2m2 4M2+in2
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Bs

o O o O

7Bl

o O o O

o o O O

o O o O

0
_ 3
— ls(4Ms5+ms)
0
4
4Ms+ms
0 0
3Ks 3Dd5
Is(4Ms+ms)  I5(4Ms+ms)
0 0
4Ky __4ADg,
4Ms+msg 4Ms+ms |
0
-3
— 11 (4M1+mq)
0
__ 4
4M1+my
0 0
3K2 _ 3Dd2
I (4M1+my) L (4M;+my)
0 0
4K, 4Dd2
4M1+mq 4 My +mq
0
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— 12 (4M2 +m2)
0
4
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0 0
3(Ky+K3) 3(Dg,+Da,)
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_4(K2+K3) _4(Dd2+Dd3)
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A43
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00 0 0
3K 3Dq
A23 — 0 0 - lz (4M2<3|>7’TL2) - 12 (4M2jTFL2)
00 0 0
4K 4Dy
L 0 0 4M2‘|‘3m2 4M2+§n2
0 1 0 0 0
39(M3+TFL3) _ 3D03(M3+m3) 0 3D13 _ 3
13(4M3-|—m3) m3133(4M33+m3) 13(4M3+m3) BB — l (4M3-|—m3)
0 0 0 1 0
_ BM3g 3D93 0 _ 4D:c3 4
| 4M3z+m3 I3(4M3+ms3) 4AM3z+m3 | 4Ms+ms3
0 0 0 0 0 0 0 0
0 0 —. 3Ks __ 38D 0 0 S3KstKa) 3(Dgy+Day,)
13(4M3-|—7TL3) 13(4M3+m3) A33 — 13(4M3-|—m3) 13(4M3+m3)
0 0 0 0 0 0 0 0
4K, 4Dy, 4 K3+K,) 4(Da,+Dy,)
00 4Ms+m3 4M3im3 L 00 - 4M2+m§ o 4ﬂj—’3+mz
00 0 0
0 0 o 3K, o 3Dd4
A34 — 13(4M3+7713) 13(4M3+m3)
00 0 0
4K, 4Dq
L 0 0 4M3"“4m3 4M3+1’1rn,3
0 1 0 0 0
3g(My+mq) 3Dg, (Ms+mas) 0 3Dg, 3
l4(4M4+m4) m4l43(4M4+m4) 14(4M4+TFL4) B4 — l4(4M4+m4)
0 0 0 1 0
_ 3m4g 3D94 O _ 4DI4 4
| 4My+maq la(4Ma+ma) 4Ms+ms | AMy+my
0 0 0 0 0 0 0 0
00 — 3K, _ 3Dq4, 0 0 3(Ks+Ks) 3(Da,+Day)
l4(4M4+m4) l4(4M4+7’TL4) A44 — 14(4M4+1TL4) l4(4M4+7’TL4)
0 0 0 0 0 0 0 0
4K 4Dy 4(K4+Ks) (Dg,+Dyy)
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0 0 0 0
3K 3Dq
A45 — 0 0 - l4(4M4 <5|>7’TL4) - 14(4M4jm4)
0 0 0 0
4K, 4Dy
L 0 0 4My "‘5m4 4My +"5m4
0 1 0 0 0
39(M5+TFL5) _ 3D05 (M5+m5) 0 3D15 _ 3
l5(4M5-|—m5) m5l53(4M5+m5) 15(4M5+m5) B5 — 15(4M5+m5)
0 0 0 1 0
_ 3M5g 3D93 0 _ 4D:c5 4
| 4Ms+ms Is(4M5+ms) 4Ms+ms | 4Ms+ms
0 0 0 0 0 0 0 0
3K 3Dg 3K 3Dg4
O O _15(4M5-5|—7TL5) _15(4M5-|5—m5) A55 — 0 O 15(4M5im5) l5(4M5-IE:m5)
0 0 0 0 0 0 0 0
4K 4Dg, 4K 4Dg,
L 00 4Ms+ms 4Ms+ms L 0 0 T 4Ms+tms T 4Ms+tms |

6.3 UUOOooggoot

doodoogooooogbogdgggodg.

Subsystem 1 | Subsystem 2 | Subsystem 3 | Subsystem 4 | Subsystem 5
Cartmass M, =2.0[kg] | My =12[kg] | M3 =1.0[kg] | My = 1.4[kg] | M5 = 1.3[kg]
Rod mass | my = 0.14]kg] | ma = 0.2[kg] | ms = 0.1[kg] | mq = 0.15[kg| | ms = 0.2[kg]
Rod length ly = 0.7[m] ly = 0.5]m] I3 = 0.4[m] ly = 0.4]m] ls = 0.5[m]
Friction D,y =001 | D,y =001 | Dys=001 | Dyy=001 | Dys=0.01
(cartground) | [g/s] (ko /s (ko /s [k/9 [ko/s
Friction Dy, = 0.01 Dygy = 0.01 Dy3 = 0.01 Dgy = 0.01 Dys = 0.01
(cart,rod) [kgm?/s] [kgm?/s] [kgm?/s] [kgm?/s] [kgm?/s]
Spring | K =10.0[N/m] | Ks=10.0[N/m] | K4=10.0[N/m] | Ks=10.0[N/m]
Damper | Ddy = 1.0[Ns/m| | Dd3 = 1.0[Ns/m] | Ddy = 1.0[Ns/m] | Dds = 1.0[Ns/m)|
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